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OFsHE UE ALE 35,000,000& 35,000
< 17,500
Al 17,500
307 21201 A 134,000 ,000
< 67,000
Al 67,000
02 It S AIHE L 126,000 ,000
OFHsHE 43 XA 96,000,000& 96,000
< 48,000
Al 48,000
OFAsHE = 20U0H X&
30,000, 000& 30,000
< 15,000
Al 15,000
05 RIZt2E = 8,000 ,000
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< 4,000
Al 4,000
Hs&EY 843 XA (ExX) 34,500 ,500
= 10,350
Al 24,150
201 Let24d] 1,500 ,500
= 450
Al 1,050
01 At 22l 1,500 ,500
O Et==EH| 1,500
o H=sZEds FRFA 1,500,000& 1,500
= 450
Al 1,050
202 (44l 1,000 ,000
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= 6,720
12 JIEtE A2 6,720 6,240 480
O=sAE AS XA s AHA 2 6,720,000 6,720
= 6,720
2As 284 IH(EX) 28,000 24,000 4,000
= 14,000
Al 14,000
201 gEt24H Y| 14,000 11,000 3,000
= 7,000
Al 7,000
01 AP 2t 2] H| 5,000 6,000 A 1,000
OBt 2H| 5,000
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Al 1,000
301 et A= 12,000 12,000 0
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Al 6,000
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12 JIEtE &= 7,000 8,000 A 1,000
OLdLr=s s 2AHH| 7,000,000& 7,000
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Al 3,500
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Al 5,000
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Al 5,000
01 AP 22| H| 3,000 3,000 0
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2N sEXNEY
Hu: HoD BE
Sl SYAYXE CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OaEsgel ZFIAULEA A48 29
2,160,000 2,160
= 1,080
Al 1,080
301 LEHZ 3,240 5,400 22,160
= 1,620
Al 1,620
12JEEd= 3,240 5,400 A2,160
OBES0 FATGEA 288 U HY &
o= 3,240,000 3,240
= 1,620
Al 1,620
sgd2 A48 XNJA(BX) 15,000 26,000 A 11,000
= 9,000
< 1,800
Al 4,200
307 gl2tol & 15,000 26,000 A 11,000
= 9,000
< 1,800
Al 4,200
02 IZtE M AHE X 15,000 26,000 A 11,000
O=282gH 38 2248 XF  15,000,000& 15,000
= 9,000
< 1,800
Al 4,200
HHR2IZH (s=XJA D) 40,800 33,800 7,000
22t (sEXEn) 40,800 31,800 9,000
22t (sEXJ 1) 40,800 31,800 9,000
202 O4dl 36,000 27,600 8,400
01 = LH 4 1l 36,000 27,600 8,400
OZE=Z 0 100,000 30X x123] 36,000
203 YR =2l 4,800 4,200 600
04 EASIYRFLH| 4,800 4,200 600
O=sEX& L 400,000& 123 4,800
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